Gotham’s Bridges
Filename: bridges

The Problem

After the devastating battle, Batman stands victorious over his damaged city.  Being a responsible individual, Batman offers to repair all the bridges and connections of the Wayne Public Transportation System that had suffered damage during his adventure.  In fact, some entire sections of the metro are missing and need to be replaced.  


You’ve been hired to compute the number of ways to reconstruct a missing segment, given the available sizes of construction material.

The Input

The input file will contain several cases to analyze.  The file will begin with a single integer, c, alone on a line to denote the number of cases.  Each case will begin with a lone integer, n, denoting the number of sizes of replacement material available (there is an infinite amount of each material).  The next line will contain n distinct integers delimited by spaces.  Each integer is the length (size) of a replacement part.  Finally, there will be a lone integer, l, denoting the length of the missing segment that must be reconstructed.


Note that you are calculating the number of combinations to reconstruct the missing piece and NOT permutations.  


You are guaranteed 0<c<1000, n and l and the size of all replacement pieces will be positive and that the answer to all test cases will be less than 1000000.

The Output

For each case, output a single integer describing the number of ways to reconstruct the missing segment.
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Sample Output
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